

Page 1 of 1

#### Florida Department of Transportation



Letting:

**Vendor Ranking** 

October 31, 2019 11:00 AM Call Order: 004 Contract: E6M78-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 42823537201 (\*)

Contract Desc: CONCRETE INSTALLATION MIAMI-DADE COUNTY

06191031

Rai	nk Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	Percent Of Estimate
1	WRANGLER CONSTRUCTION INC.	Responsive	Winning bid	\$243,037.00	100.00%	88.05%
0	Engineer's Estimate			\$276,006.25	113.57%	100.00%
2	GPE ENGINEERING AND GENERAL CONTRACTOR CORP.	Responsive	Non-Winning	\$284,996.70	117.26%	103.26%
3	AMERICAN DESIGN ENGINEERING CONSTRUCTION INC.	Responsive	Non-Winning	\$290,601.50	119.57%	105.29%
4	P&P CONTRACTING, INC.	Responsive	Non-Winning	\$306,701.70	126.20%	111.12%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





**Tabulation of Bids** 

Page 1 of 8

**Letting:** 06191031 October 31, 2019 **Call Order:** 004 **Contract:** E6M78-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 42823537201 (\*)

Contract Descr: CONCRETE INSTALLATION MIAMI-DADE COUNTY

Electronic bids are requested for a Work Order Driven contract to provide labor, equipment and materials for the construction, reconstruction and removal of concrete sidewalk, curb cut ramps, curb & gutter, special curb & gutter and sound/noise barrier panels on various state roads. The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractors' bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Award will be made at the Budgetary Ceiling amount of \$300,000.00.

Visit www.bidx.com for more information.

#### DIVERSITY ACHIEVEMENT: MINORITY BUSINESS ENTERPRISE (MBE) UTILIZATION

The Department, in accordance with Title VI of the Civil Rights Act of 1964, 42 USC 2000d- 2000d- 4, Title 49, Code of Federal Regulations, U.S. Department of Transportation, Subtitle A, Office of the Secretary, Part 21, Nondiscrimination in federally-assisted programs of the Department of Transportation issued pursuant to such Act, hereby notifies all bidders that the Department will affirmatively ensure that in any contract/agreement entered into pursuant to this advertisement, minority and disadvantaged business enterprises will be afforded the full opportunity to submit bids in response to this invitation and will not be discriminated on the basis of race, color, national origin, or sex in consideration for an award.

The Department encourages small, minority, women, and service-disabled veteran businesses to compete for Department contracts, both as "Vendor" and as subcontractors. The Department, its vendors, suppliers, and consultants should take all necessary and reasonable steps to ensure that small, minority, women, and service-disabled veteran businesses have the opportunity to compete for and perform contract work for the Department in a nondiscriminatory environment. For this contract, the Department has a goal of 20% commitment for Minority Business Enterprises (MBE) participation. Proposers are requested to indicate their intention regarding MBE participation on the MBE Planned Utilization form and to submit the completed form with their Price Proposal. The contract vendor will be asked to submit payment certification for MBE subcontractors used.

To request certification or to locate certified MBEs, call the Office of Supplier Diversity, Department of Management Services at (850) 487-0915, or access their MBE directory on the Internet at www.osd.dms.state.fl.us/.

Line No / Item ID Alternate Item Description		Quantity Units	Engineer'	s Estimate	(1) WRANGLER CONSTRUCTION INC.		(2) GPE ENGINEERING AND GENERAL CONTRACTOR	
() indicates item is bid as Lump Sum		O.I.I.O	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	CORP. Ext Amount



Page 2 of 8

# Florida Department of Transportation



## **Tabulation of Bids**

Lettin	<b>g</b> : 0	6191031	October 31, 20	19 <b>Ca</b> l	II Order: 004		Contract:	E6M78-R0	
	No / Item ID Description	Alternat	e Quantity Units	Engineer's	s Estimate	(1) WRA CONSTRUC		GENERAL C	NEERING AND ONTRACTOR
	•	oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	RP. Ext Amount
	SECTION:	0001	CONCRETE SI	DEWALK REPAIR	R (SY)				
0005 WORK	0102 60 ZONE SIGN		650.000 ED	4.44000	2,886.00	0.50000	325.00	0.01000	6.50
	0102 74 1 IELIZING DEV UM, OR LCD	/ICE- TYPES I,	5,300.000 II, DI, ED	0.53000	2,809.00	0.20000	1,060.00	0.01000	53.00
	0102 76 V BOARD / AE V PANEL	OVANCE WARN	120.000 NING ED	19.01000	2,281.20	14.00000	1,680.00	0.01000	1.20
0020 REMOV	0110 4 10 /AL OF EXIST	ING CONCRET	3,960.000 TE SY	10.33000	40,906.80	9.50000	37,620.00	10.00000	39,600.00
	0401 70 4 RE SPALLED IT GROUT	AREAS, PORT	10.000 FLAND CF	280.00000	2,800.00	395.00000	3,950.00	280.00000	2,800.00
	0415 1 6 DRCING STEE LLANEOUS	EL-	500.000 LB	1.00000	500.00	1.50000	750.00	1.00000	500.00
0035 CONCR	0520 1 10 RETE CURB &	GUTTER, TYF	255.000 PE F LF	26.85000	6,846.75	25.00000	6,375.00	30.00000	7,650.00
	0520 1 10 RETE CURB & I concrete	GUTTER, TYF	100.000 PEF LF	28.86000	2,886.00	28.00000	2,800.00	35.00000	3,500.00
		GUTTER, TYF TER PROFILE	150.000 PE F LF	26.75000	4,012.50	27.00000	4,050.00	30.00000	4,500.00



Page 3 of 8

# Florida Department of Transportation



## **Tabulation of Bids**

Letting	<b>g:</b> 06	3191031	October 31, 20	19 <b>Cal</b>	l Order: 004		Contract:	E6M78-R0	
	No / Item ID Description	Alternate	Quantity Units	Engineer's	Estimate	(1) WRA CONSTRUC		(2) GPE ENGIN GENERAL CO	ONTRACTOR
	licates item is bi	d as Lump Sum	<b>55</b>	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	RP. Ext Amount
	SECTION:	0001	CONCRETE SIL	DEWALK REPAIR	(SY)				
	PECIAL GUTT	GUTTER, TYP ER PROFILE	415.000 E F LF	35.00000	14,525.00	30.00000	12,450.00	35.00000	14,525.00
0055 VALLEY	0520 3 GUTTER- CC	NCRETE	35.000 LF	20.00000	700.00	35.00000	1,225.00	30.00000	1,050.00
	0522 1 ETE SIDEWAI /AYS, 4" THIC		2,240.000 SY	34.87000	78,108.80	34.00000	76,160.00	40.00000	89,600.00
	0522 1 ETE SIDEWAI /AYS, 4" THIC	_K AND K Colored con	600.000 SY crete	37.00000	22,200.00	42.00000	25,200.00	45.00000	27,000.00
	0522 2 ETE SIDEWAI /AYS, 6" THIC		430.000 SY	41.00000	17,630.00	44.00000	18,920.00	50.00000	21,500.00
	0522 2 ETE SIDEWAI /AYS, 6" THIC	_K AND K Colored con	250.000 SY crete	46.50000	11,625.00	48.00000	12,000.00	55.00000	13,750.00
0080 DETECT	0527 2 ΓABLE WARNI	NGS	516.000 SF	29.70000	15,325.20	19.00000	9,804.00	30.00000	15,480.00
0085 PULL & COVER	0635 2 11 SPLICE BOX, SIZE	F&I, 13" x 24"	34.000 EA	520.00000	17,680.00	597.00000	20,298.00	520.00000	17,680.00





## **Tabulation of Bids**

Page 4 of 8

Lettin	ıg: (	06191031	October 31, 20	19 <b>Ca</b> l	ll Order: 004		Contract:	E6M78-R0	
Line No / Item ID Item Description			e Quantity Units	Engineer's Estimate		(1) WRANGLER CONSTRUCTION INC.		(2) GPE ENGINEERING AND GENERAL CONTRACTOR	
( ) in	ndicates item is b	oid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	RP. Ext Amount
	SECTION:	0001	CONCRETE SI	DEWALK REPAIR	(SY)				
0090 OFF-DU OFFICE	E102 10 UTY LAW ENF ER	FORCEMENT	100.000 MH	64.84000	6,484.00	45.00000	4,500.00	0.01000	1.00
0095	E534 72 1		86.000	300.00000	25,800.00	45.00000	3,870.00	300.00000	25,800.00
SOUNE REPLA		RIER PANELS,	F&I, SF						
000		E SIDEWALK S REPAIR (SY)	Section Totals:		\$276,006.25		\$243,037.00		\$284,996.70
		Contract G	rand Totals:		\$276,006.25		\$243,037.00		284,996.70





## **Tabulation of Bids**

Page 5 of 8

Letting:	: 06′	191031 C	October 31, 20	19 Call	Order: 004		Contract:	E6M78-R0	
	No / Item ID Description	Alternate	Quantity Units	(3) AMERICA ENGINEE	RING	(4) P&P CONTR	RACTING, INC.		
	cates item is bid	as Lump Sum	00	CONSTRUCT Unit Price	FION INC. Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	CONCRETE SI	DEWALK REPAIR	(SY)				
	0102 60 ONE SIGN		650.000 ED	0.60000	390.00	0.01000	6.50		
CHANNE	0102 74 1 ELIZING DEVIC M, OR LCD	E- TYPES I, II,	5,300.000 DI, ED	0.40000	2,120.00	0.01000	53.00		
	-	ANCE WARNII	120.000 NG ED	14.00000	1,680.00	0.01000	1.20		
	0110 4 10 AL OF EXISTIN	IG CONCRETE	3,960.000 E SY	8.15000	32,274.00	1.00000	3,960.00		
		REAS, PORTL	10.000 AND CF	234.00000	2,340.00	1.00000	10.00		
REINFOR	0415 1 6 RCING STEEL: ANEOUS	-	500.000 LB	1.70300	851.50	1.00000	500.00		
	0520 1 10 ETE CURB & G	UTTER, TYPE	255.000 F LF	25.00000	6,375.00	60.00000	15,300.00		
		UTTER, TYPE	100.000 F LF	28.00000	2,800.00	90.00000	9,000.00		
CONCRE	0520 1 12 ETE CURB & G PECIAL GUTTE	SUTTER, TYPE R PROFILE	150.000 F LF	25.00000	3,750.00	80.00000	12,000.00		



Page 6 of 8

# Florida Department of Transportation



## **Tabulation of Bids**

Letting:	06191031	October 31, 20	19 <b>Cal</b>	l Order: 004		Contract:	E6M78-R0	
	o / Item ID Alternates	ate Quantity Units	(3) AMERICA ENGINE	ERING	(4) P&P CONTR	RACTING, INC.		
	ates item is bid as Lump Sui		CONSTRUC Unit Price	CTION INC. Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	CONCRETE SI	DEWALK REPAIR	(SY)				
CONCRET	0520 1 12 TE CURB & GUTTER, TY ECIAL GUTTER PROFILI oncrete		29.00000	12,035.00	90.00000	37,350.00		
	0520 3 GUTTER- CONCRETE	35.000 LF	25.00000	875.00	20.00000	700.00		
CONCRET	0522 1 TE SIDEWALK AND NYS, 4" THICK	2,240.000 SY	45.00000	100,800.00	40.00000	89,600.00		
CONCRET	0522 1 TE SIDEWALK AND NYS, 4" THICK Colored co	600.000 SY oncrete	49.00000	29,400.00	90.00000	54,000.00		
CONCRET	0522 2 TE SIDEWALK AND NYS, 6" THICK	430.000 SY	50.00000	21,500.00	60.00000	25,800.00		
CONCRET	0522 2 TE SIDEWALK AND NYS, 6" THICK Colored co	250.000 SY oncrete	61.00000	15,250.00	90.00000	22,500.00		
	0527 2 BLE WARNINGS	516.000 SF	10.00000	5,160.00	20.00000	10,320.00		
	0635 2 11 PLICE BOX, F&I, 13" x 24 IZE	34.000 4" EA	800.00000	27,200.00	500.00000	17,000.00		





## **Tabulation of Bids**

Page 7 of 8

Letting:	0619103	31 Oc	tober 31, 201	19 <b>Cal</b>	l Order: 004		Contract:	E6M78-R0			
Line No / Item ID Item Description		Quanti				ENGINE	CAN DESIGN (4) P&P CONT		ACTING, INC.		
	cates item is bid as Lur	mp Sum		CONSTRUC Unit Price	CTION INC. Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
	SECTION: 0001	CC	ONCRETE SIE	DEWALK REPAIR	(SY)						
0090	E102 10		100.000	0.01000	1.00	0.01000	1.00				
OFF-DUT OFFICER	TY LAW ENFORCEN	MENT	MH								
0095	E534 72 1		86.000	300.00000	25,800.00	100.00000	8,600.00				
SOUND/N REPLACE	NOISE BARRIER PA E	NELS, F&I	, SF								
0001	0001 CONCRETE SIDEWALK Section Totals: REPAIR (SY)				\$290,601.50		\$306,701.70				
	Cont	ract Gran	d Totals:		\$290,601.50		\$306,701.70				



11/04/2019

**Tabulation of Bids** 

Page 8 of 8

**Letting:** 06191031 Octo

October 31, 2019

Call Order: 004

Contract:

E6M78-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.